Number of events (e+jets)

Sample Ot 1t+0b 1t+1b
tt (signal) 1560 £120 289 +£22 226 £17
tt (nonsignal) 458 +34 400+3.0 301+23
Single t 260120 11.6+5.3 32+15
Wjets 3670250 130+9 27+0.2
Multijet 760+£130 68+11 105+1.8
Total background 5140+310 249+16 46.5+32
Signal + background 6700+£330 537+27  273+17
Data 6833 538 242
Number of events (p+jets)

Sample Ot 1t+0b 1t+1b
tt (signal) 1920+140 359427  271+£20
tt (nonsignal) 478 £36 44.7+34 297422
Single t 290+140 144+66 41+19
Wjets 4790 £330 154+11 39403
Multijet 360+£170 13.4+63 7.6+3.6
Total background 5920£390 226+14 453+4.6
Signal + background 7840+£420 586+31 317421
Data 7712 622 306



